normalized X?

< X2/ ndf >

< X2/ ndf >

Ratio

<o pTIpT > (Yo)

107}

1072

107

107

1078 [ o =40
0.9f - )
o IR e oo
07 alaabie 3 O e h 0.95 i TSRS IO SN OO T S
0 2 4 6 8 10 12 14 16 18 20 0 010203040506070809 1
X2

Entries 1625642
1.026

[ normalized x? probability |

0.06!

0.05

0.04

0.03]

0.02

" [Entries 1625642
Mean 0.5463
Std Dev. 0.3162

Prob(x2)

m=m== DQM_original_step2_tthar-phasel-newgeom
e DQM_pixelCPE_step2_ttbar-phasel-newgeom

wmm—= DQM_pixelCPEChi20R2_step2_ttbar-phasel-newgeom

g
Q©

=
2}

[

w »

N
U o N o W o N o

10" 1 10 10? p103
T

<op./p. > )

Ratio

< X2/ ndf >

Ratio

TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, jetg)



	Contents
	Page 1


